

INEQUALITIES AND ASYMPTOTIC EXPANSIONS RELATED TO GLAISHER–KINKELIN CONSTANT

LONG LIN

(Communicated by N. Elezović)

Abstract. We present sharp inequalities and asymptotic expansions related to Glaisher-Kinkelin constant. Also, we present sharp inequality and asymptotic expansion for sum $\sum_{k=1}^n k \ln \left(1 + \frac{1}{k}\right)$. This solves an open problem proposed in 2009 by Mihály Bencze.

1. Introduction

The Glaisher-Kinkelin constant $A = 1.28242712 \dots$ is defined by

$$\lim_{n \rightarrow \infty} n^{-n^2/2-n/2-1/12} e^{n^2/4} \prod_{k=1}^n k^k = A \quad (1.1)$$

(see [8, 9, 14]), as well as

$$\lim_{n \rightarrow \infty} \frac{G(n+1)}{n^{n^2/2-1/12} (2\pi)^{n/2} e^{-3n^2/4}} = \frac{e^{1/12}}{A}, \quad (1.2)$$

where $G(n)$ is the Barnes G -function [2].

The Glaisher-Kinkelin constant A has closed-form representations

$$\begin{aligned} A &= e^{\frac{1}{12} - \zeta'(-1)} \\ &= (2\pi)^{1/12} [e^{\gamma\pi^2/6 - \zeta'(2)}]^{1/(2\pi^2)} \end{aligned}$$

(see [5, p. 129, Eq. (3.22)]), where $\zeta'(z)$ is the derivative of the Riemann zeta function $\zeta(z)$ (see [6]).

The Glaisher-Kinkelin constant A appears in a number of sums and integrals, especially those involving gamma functions and zeta functions. Finch introduced this constant A in a section of his book [7, pp. 135–138].

Define the sequence $(A_n)_{n \in \mathbb{N}}$ by

$$A_n := n^{-n^2/2-n/2-1/12} e^{n^2/4} \prod_{k=1}^n k^k. \quad (1.3)$$

Mathematics subject classification (2010): 11Y60, 40A05.

Keywords and phrases: Asymptotic formula, inequality, Glaisher-Kinkelin constant, Bernoulli numbers, fundamental theorem of algebra, Newton formulas.

Very recently, Chen [4, Theorem 1] established the asymptotic expansion of the sequence $(\ln A_n)_{n \in \mathbb{N}}$:

$$\begin{aligned} \ln A_n &= \sum_{k=1}^n k \ln k - \left(\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12} \right) \ln n + \frac{n^2}{4} \\ &\sim \ln A - \sum_{k=1}^{\infty} \frac{B_{2k+2}}{2k(2k+1)(2k+2)} \frac{1}{n^{2k}}, \end{aligned} \tag{1.4}$$

where B_k ($k \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}$, $\mathbb{N} := \{1, 2, 3, \dots\}$) are the n -th Bernoulli numbers defined by the following generating function (see, for example, [12, Section 1.6] and [13, Section 1.7]):

$$\frac{z}{e^z - 1} = \sum_{k=0}^{\infty} B_k \frac{z^k}{k!} \quad (|z| < 2\pi). \tag{1.5}$$

The asymptotic representation (1.4) can be rewritten as

$$1^1 2^2 \cdots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \exp \left(\sum_{j=1}^{\infty} \frac{a_j}{n^j} \right), \tag{1.6}$$

where

$$a_j = -\frac{B_{j+2}}{j(j+1)(j+2)} \quad (j \in \mathbb{N}). \tag{1.7}$$

Namely,

$$\begin{aligned} 1^1 2^2 \cdots n^n &\sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \exp \left(\frac{1}{720n^2} - \frac{1}{5040n^4} + \frac{1}{10080n^6} \right. \\ &\quad \left. - \frac{1}{9504n^8} + \frac{691}{3603600n^{10}} - \frac{1}{1872n^{12}} + \cdots \right). \end{aligned} \tag{1.8}$$

Mortici [11] established (1.6) and gave the following system for successively determining the coefficients a_j :

$$\begin{aligned} a_1 - \binom{k-1}{1} a_2 + \cdots + (-1)^k \binom{k-1}{k-2} a_{k-1} \\ = \frac{1}{2k+2} - \frac{1}{2k+4} - \frac{1}{12k} \quad (k \in \mathbb{N} \setminus \{1\}). \end{aligned} \tag{1.9}$$

By using $e^x = \sum_{j=0}^{\infty} \frac{x^j}{j!}$, we deduce that

$$1^1 2^2 \cdots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \frac{1}{720n^2} - \frac{1433}{7257600n^4} + \cdots \right). \tag{1.10}$$

Our first aim in this paper is to give two general asymptotic expansions for $1^1 2^2 \cdots n^n$ which includes (1.10) as their special case (see Theorems 2.1 and 2.2).

In 2009, Bencze [3, p. 451] posed the following open problem: (i) Prove that

$$n - \frac{1}{2} - \frac{1}{2} \ln n < \sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) < n + 2 - \frac{1}{n} - \frac{1}{2} \ln(n + 1). \tag{1.11}$$

(ii) Determine $\alpha, \beta \in \mathbb{R}$ such that

$$\sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) = n + \alpha + \beta \ln n + O \left(\frac{1}{n} \right). \tag{1.12}$$

Our second aim in this paper is to answer this question (see Theorem 2.3).

Our last aim in this work is to present the asymptotic expansion and sharp inequality for $\sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right)$, which are related to the the Glaisher-Kinkelin constant (see Theorem 2.4).

2. Main results

By using a fundamental theorem of algebra and the Newton formulas, we prove Theorem 2.1 which includes (1.10) as its special case.

THEOREM 2.1. *Let r be a given nonzero real number. The following asymptotic expression holds:*

$$1^1 2^2 \dots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \sum_{j=1}^{\infty} \frac{b_j}{n^j} \right)^{1/r}, \tag{2.1}$$

where the coefficients $b_j = b_j(r)$ ($j \in \mathbb{N}$) are given by

$$b_j = \sum_{k_1+2k_2+\dots+jk_j=j} \frac{(-r)^{k_1+k_2+\dots+k_j}}{k_1!k_2! \dots k_j!} \cdot \left(\frac{B_3}{1 \cdot 2 \cdot 3} \right)^{k_1} \left(\frac{B_4}{2 \cdot 3 \cdot 4} \right)^{k_2} \dots \left(\frac{B_{j+2}}{j(j+1)(j+2)} \right)^{k_j}, \tag{2.2}$$

the summation being taken over all combinations of nonnegative integers k_j satisfying the equation

$$k_1 + 2k_2 + \dots + jk_j = j.$$

Proof. To determine b_j ($j \in \mathbb{N}$), we first express (2.1) as follows:

$$r \ln \left(\frac{A_n}{A} \right) = \ln \left(1 + \sum_{j=1}^m \frac{b_j}{n^j} \right) + O(n^{-m-1}).$$

By using the fundamental theorem of algebra, we see that there exist unique complex numbers x_1, \dots, x_m such that

$$1 + \frac{b_1}{n} + \dots + \frac{b_m}{n^m} = \left(1 + \frac{x_1}{n} \right) \dots \left(1 + \frac{x_m}{n} \right). \tag{2.3}$$

We thus have

$$1 + \frac{(-1)c_1}{n} + \frac{(-1)^2c_2}{n^2} + \dots + \frac{(-1)^m c_m}{n^m} = \left(1 + \frac{x_1}{n}\right) \dots \left(1 + \frac{x_m}{n}\right). \tag{2.9}$$

By (2.3) and (2.9), the coefficients b_j are given by

$$\begin{aligned} b_j &= (-1)^j c_j \\ &= (-1)^j \sum_{k_1+2k_2+\dots+jk_j=j} \frac{(-1)^{k_1+k_2+\dots+k_j}}{k_1!k_2!\dots k_j!} \left(\frac{S_1}{1}\right)^{k_1} \left(\frac{S_2}{2}\right)^{k_2} \dots \left(\frac{S_j}{j}\right)^{k_j}, \end{aligned}$$

where S_j are given in (2.7). That is

$$\begin{aligned} b_j &= \sum_{k_1+2k_2+\dots+jk_j=j} \frac{(-r)^{k_1+k_2+\dots+k_j}}{k_1!k_2!\dots k_j!} \\ &\quad \cdot \left(\frac{B_3}{1 \cdot 2 \cdot 3}\right)^{k_1} \left(\frac{B_4}{2 \cdot 3 \cdot 4}\right)^{k_2} \dots \left(\frac{B_{j+2}}{j(j+1)(j+2)}\right)^{k_j} \quad (j \in \mathbb{N}). \end{aligned}$$

This completes the proof of Theorem 2.1. \square

By using another proving method, we prove Theorem 2.2 which includes Theorem 2.1 as its special case.

THEOREM 2.2. *Let r be a given nonzero real number and $\ell \geq 0$ be a given integer. The following asymptotic expression holds:*

$$1^1 2^2 \dots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \sum_{j=1}^{\infty} \frac{d_j}{n^j}\right)^{n^\ell/r}, \tag{2.10}$$

where the coefficients $d_j = d_j(\ell, r)$ ($j \in \mathbb{N}$) are given by

$$\begin{aligned} d_j &= d_j(\ell, r) = \sum_{(1+\ell)k_1+(2+\ell)k_2+\dots+(j+\ell)k_j=j} \frac{(-r)^{k_1+k_2+\dots+k_j}}{k_1!k_2!\dots k_j!} \\ &\quad \cdot \left(\frac{B_3}{1 \cdot 2 \cdot 3}\right)^{k_1} \left(\frac{B_4}{2 \cdot 3 \cdot 4}\right)^{k_2} \dots \left(\frac{B_{j+2}}{j(j+1)(j+2)}\right)^{k_j}. \end{aligned} \tag{2.11}$$

summed over all nonnegative integers k_j satisfying the equation

$$(1 + \ell)k_1 + (2 + \ell)k_2 + \dots + (j + \ell)k_j = j.$$

Proof. To determine d_j ($j \in \mathbb{N}$), we first express (2.10) as follows:

$$\left(\frac{A_n}{A}\right)^{r/n^\ell} = 1 + \sum_{j=1}^m \frac{d_j}{n^j} + O(n^{-m-1}). \tag{2.12}$$

Write (1.6) as

$$\ln \left(\frac{A_n}{A} \right) = \sum_{k=1}^m \frac{-B_{k+2}}{k(k+1)(k+2)n^k} + \mathcal{R}_m(n) \quad (n \rightarrow \infty),$$

where $\mathcal{R}_m(n) = O(n^{-m-1})$. Further, we have

$$\begin{aligned} \left(\frac{A_n}{A} \right)^{r/n^\ell} &= e^{r\mathcal{R}(x)/x^\ell} e^{\sum_{k=1}^m \frac{-rB_{k+2}}{k(k+1)(k+2)n^{k+\ell}}} \\ &= e^{r\mathcal{R}(x)/x^\ell} \prod_{k=1}^m \left[1 + \left(\frac{-rB_{k+2}}{k(k+1)(k+2)n^{k+\ell}} \right) + \frac{1}{2!} \left(\frac{-rB_{k+2}}{k(k+1)(k+2)n^{k+\ell}} \right)^2 + \dots \right] \\ &= e^{r\mathcal{R}(x)/x^\ell} \sum_{k_1=0}^\infty \sum_{k_2=0}^\infty \dots \sum_{k_m=0}^\infty \frac{1}{k_1!k_2! \dots k_m!} \\ &\quad \cdot \left(\frac{-rB_3}{1 \cdot 2 \cdot 3 \cdot n^{1+\ell}} \right)^{k_1} \left(\frac{-rB_4}{2 \cdot 3 \cdot 4 \cdot n^{2+\ell}} \right)^{k_2} \dots \left(\frac{-rB_{m+2}}{m(m+1)(m+2)n^{m+\ell}} \right)^{k_m} \\ &= e^{r\mathcal{R}(x)/x^\ell} \sum_{k_1=0}^\infty \sum_{k_2=0}^\infty \dots \sum_{k_m=0}^\infty \frac{(-r)^{k_1+k_2+\dots+k_m}}{k_1!k_2! \dots k_m!} \\ &\quad \cdot \left(\frac{B_3}{1 \cdot 2 \cdot 3} \right)^{k_1} \left(\frac{B_4}{2 \cdot 3 \cdot 4} \right)^{k_2} \dots \left(\frac{B_{m+2}}{m(m+1)(m+2)} \right)^{k_m} \\ &\quad \cdot \frac{1}{x^{(1+\ell)k_1+(2+\ell)k_2+\dots+(m+\ell)k_m}}. \end{aligned} \tag{2.13}$$

Equating the coefficients by the equal powers of x in (2.12) and (2.13), we see that

$$\begin{aligned} d_j &= \sum_{(1+\ell)k_1+(2+\ell)k_2+\dots+(j+\ell)k_j=j} \frac{(-r)^{k_1+k_2+\dots+k_j}}{k_1!k_2! \dots k_m!} \\ &\quad \cdot \left(\frac{B_3}{1 \cdot 2 \cdot 3} \right)^{k_1} \left(\frac{B_4}{2 \cdot 3 \cdot 4} \right)^{k_2} \dots \left(\frac{B_{j+2}}{j(j+1)(j+2)} \right)^{k_j}. \end{aligned}$$

This completes the proof of Theorem 2.2. \square

Setting $(\ell, r) = (0, 1)$ in (2.10), yields (1.10). Here, from (2.10), we give several explicit expressions:

$$1^1 2^2 \dots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \frac{1}{360n^2} - \frac{713}{1814400n^4} + \dots \right)^{1/2}; \tag{2.14}$$

$$1^1 2^2 \dots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \frac{1}{720n^3} - \frac{1}{5040n^5} + \dots \right)^n; \tag{2.15}$$

$$1^1 2^2 \dots n^n \sim A \cdot n^{\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12}} e^{-\frac{n^2}{4}} \left(1 + \frac{1}{720n^4} - \frac{1}{5040n^6} + \dots \right)^{n^2}. \tag{2.16}$$

Theorem 2.3 answers the open problem of Bencze.

THEOREM 2.3. (i) *The following asymptotic expansion holds:*

$$\begin{aligned} \sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) &\sim n + 1 - \ln(\sqrt{2\pi}) - \frac{1}{2} \ln n \\ &+ \sum_{j=2}^{\infty} \left(\frac{(-1)^{j-1}}{j} - \frac{B_j}{j(j-1)} \right) \frac{1}{n^{j-1}} \quad (n \rightarrow \infty), \end{aligned} \tag{2.17}$$

namely,

$$\sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) \sim n + 1 - \ln(\sqrt{2\pi}) - \frac{1}{2} \ln n - \frac{7}{12n} + \frac{1}{3n^2} - \frac{89}{360n^3} + \dots. \tag{2.18}$$

(ii) For $n \in \mathbb{N}$, we have

$$\ln 2 - 1 + n - \frac{1}{2} \ln n \leq \sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) < 1 - \ln(\sqrt{2\pi}) + n - \frac{1}{2} \ln n. \tag{2.19}$$

The constants $\ln 2 - 1$ and $1 - \ln(\sqrt{2\pi})$ are the best possible.

Proof. Elementary calculations show that

$$\begin{aligned} \sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) &= \sum_{k=1}^n k \ln(k+1) - \sum_{k=1}^n k \ln k \\ &= \sum_{k=2}^{n+1} k \ln k - \sum_{k=2}^{n+1} \ln k - \sum_{k=1}^n k \ln k \\ &= n \ln(n+1) - \ln \Gamma(n+1) \\ &= n \ln n + n \ln \left(1 + \frac{1}{n} \right) - \ln \Gamma(n+1), \end{aligned} \tag{2.20}$$

where Γ denotes the gamma function. It is well-known that

$$\ln \Gamma(n+1) = \left(n + \frac{1}{2} \right) \ln n - n + \ln \sqrt{2\pi} + \sum_{m=1}^{\infty} \frac{B_{2m}}{2m(2m-1)n^{2m-1}} \quad (n \rightarrow \infty) \tag{2.21}$$

(see [1, p. 257, Equation (6.1.40)]) and

$$\ln \left(1 + \frac{1}{n} \right) = \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{jn^j} \quad (n \geq 1). \tag{2.22}$$

Substituting from (2.21) and (2.22) into (2.20), yields the desired formula (2.17).

The upper and lower bounds are both obtained by considering the sequence $(x_n)_{n \in \mathbb{N}}$ defined by

$$x_n = \sum_{k=1}^n k \ln \left(1 + \frac{1}{k} \right) - \left(n - \frac{1}{2} \ln n \right).$$

Elementary calculations show that

$$x_{n+1} - x_n = (n + 1) \ln \left(1 + \frac{1}{n+1} \right) + \frac{1}{2} \ln \left(1 + \frac{1}{n} \right) - 1 =: f(n).$$

Differentiation yields

$$f'(x) = \ln \left(\frac{x+2}{x+1} \right) - \frac{2x^2 + 3x + 2}{2(x+1)(x+2)x};$$

$$f''(x) = \frac{7x^2 + 12x + 4}{2(x+1)^2(x+2)^2x^2} > 0 \quad (x \geq 1).$$

Hence,

$$f'(x) < \lim_{x \rightarrow \infty} f'(x) = 0 \quad (x \geq 1),$$

which implies

$$x_{n+1} - x_n = f(n) > \lim_{n \rightarrow \infty} f(n) = 0 \quad (n \in \mathbb{N}).$$

Therefore, the sequence $(x_n)_{n \geq 1}$ is strictly increasing, and we have

$$\ln 2 - 1 = x_1 \leq x_n < \lim_{n \rightarrow \infty} x_n = 1 - \ln(\sqrt{2\pi}) \quad (n \in \mathbb{N}).$$

This completes the proof of Theorem 2.3. \square

REMARK. The inequalities (2.19) are sharper than inequalities (1.11).

Motivated by the open problem of Bencze, we establish the asymptotic expansion and sharp inequality for $\sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right)$, which are related to the the Glaisher-Kinkelin constant.

THEOREM 2.4. (i) *The following asymptotic expansion holds:*

$$\sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right) \sim n^2 \ln(n+1) - \left(n^2 - \frac{1}{3} \right) \ln n + \frac{n(n-2)}{2}$$

$$+ \ln(\sqrt{2\pi}/A^2) + \sum_{j=1}^{\infty} \left(B_{j+1} + \frac{2B_{j+2}}{j+2} \right) \frac{1}{j(j+1)n^j} \quad (n \rightarrow \infty), \tag{2.23}$$

namely,

$$\sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right) \sim n^2 \ln(n+1) - \left(n^2 - \frac{1}{3} \right) \ln n + \frac{n(n-2)}{2}$$

$$+ \ln(\sqrt{2\pi}/A^2) + \frac{1}{12n} - \frac{1}{360n^2} + \dots \quad (n \rightarrow \infty). \tag{2.24}$$

(ii) For $n \in \mathbb{N}$, we have

$$\begin{aligned} \frac{5}{12} &\leq \sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right) \\ &\quad - \left[n^2 \ln(n+1) - \left(n^2 - \frac{1}{3} \right) \ln n + \frac{n(n-2)}{2} + \frac{1}{12n} \right] < \ln(\sqrt{2\pi}/A^2). \end{aligned} \tag{2.25}$$

The constants $\frac{5}{12}$ and $\ln(\sqrt{2\pi}/A^2)$ are the best possible.

Proof. Elementary calculations show that

$$\begin{aligned} \sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right) &= \sum_{k=1}^n k^2 \ln(k+1) - \sum_{k=1}^n k^2 \ln k \\ &= \sum_{k=2}^{n+1} (k-1)^2 \ln k - \sum_{k=1}^n k^2 \ln k \\ &= n^2 \ln(n+1) - 2 \sum_{k=1}^n k \ln k + \ln \Gamma(n+1). \end{aligned} \tag{2.26}$$

The asymptotic formula (1.6) can be rewritten as

$$\sum_{k=1}^n k \ln k \sim \ln A + \left(\frac{n^2}{2} + \frac{n}{2} + \frac{1}{12} \right) \ln n - \frac{n^2}{4} - \sum_{j=1}^{\infty} \frac{B_{j+2}}{j(j+1)(j+2)n^j}. \tag{2.27}$$

Substituting from (2.21) and (2.27) into (2.26), yields the desired formula (2.23).

Consider the sequence $(y_n)_{n \in \mathbb{N}}$ defined by

$$y_n = \sum_{k=1}^n k^2 \ln \left(1 + \frac{1}{k} \right) - \left[n^2 \ln(n+1) - \left(n^2 - \frac{1}{3} \right) \ln n + \frac{n(n-2)}{2} + \frac{1}{12n} \right].$$

Elementary calculations show that

$$y_{n+1} - y_n = \frac{12n^4 + 12n^3 - 4n^2 - 4n}{12n(n+1)} g(n),$$

where

$$g(x) = \ln \left(1 + \frac{1}{x} \right) - \frac{12x^3 + 6x^2 - 6x - 1}{12x^4 + 12x^3 - 4x^2 - 4x}.$$

Differentiation yields

$$g'(x) = -\frac{x^2 + 2x - 1}{4x^2(3x^3 + 3x^2 - x - 1)^2} < 0 \quad (x \geq 1).$$

Therefore, $g(x)$ is strictly decreasing for $x \geq 1$, and we have

$$g(n) > \lim_{n \rightarrow \infty} g(n) = 0 \quad \text{and so} \quad y_{n+1} > y_n \quad (n \in \mathbb{N}).$$

Therefore, the sequence $(y_n)_{n \geq 1}$ is strictly increasing, and we have

$$\frac{5}{12} = y_1 \leq y_n < \lim_{n \rightarrow \infty} y_n = \ln(\sqrt{2\pi}/A^2) \quad (n \in \mathbb{N}).$$

This completes the proof of Theorem 2.4. \square

REFERENCES

- [1] M. ABRAMOWITZ AND I. A. STEGUN (Editors), *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, Applied Mathematics Series **55**, Ninth printing, National Bureau of Standards, Washington, D.C., 1972.
- [2] E. W. BARNES, *The theory of the G-function*, Quart. J. Math. **31** (1899), 264–314.
- [3] M. BENCZE, *OQ. 3293*, Octagon Math. Mag. **17** (2009), no. 1, 451.
- [4] C. P. CHEN, *Glaisher-Kinkelin constant*, Integral Transforms Spec. Funct. (in press).
- [5] J. CHOI, *Some mathematical constants*, Appl. Math. Comput. **187** (2007), 122–140.
- [6] J. CHOI AND H. M. SRIVASTAVA, *Certain classes of series associated with the Zeta function and multiple Gamma functions*, J. Comput. Appl. Math. **118** (2000), 87–109.
- [7] S. R. FINCH, *Mathematical Constants*, Cambridge University Press, Cambridge, 2003.
- [8] J. W. L. GLAISHER, *On the product $1^1 \cdot 2^2 \cdot 3^3 \cdots n^n$* , Messenger Math. **7** (1878), 43–47.
- [9] J. W. L. GLAISHER, *On the constant which occurs in the formula for $1^1 \cdot 2^2 \cdot 3^3 \cdots n^n$* , Messenger Math. **24** (1894), 1–16.
- [10] H. W. GOULD, *The Girard-Waring power sum formulas for symmetric functions and Fibonacci sequences*, Fibonacci Quart. **37** (1999), 135–140.
- [11] C. MORTICI, *Product approximations via asymptotic integration*, Amer. Math. Monthly **117** (2010), 434–441.
- [12] H. M. SRIVASTAVA, J. CHOI, *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001.
- [13] H. M. SRIVASTAVA AND J. CHOI, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [14] A. VOROS, *Spectral Functions, Special Functions and the Selberg Zeta Function*, Commun. Math. Phys. **110** (1987), 439–465.

(Received August 28, 2012)

Long Lin
 School of Mathematics and Informatics
 Henan Polytechnic University
 Jiaozuo City 454003
 Henan Province, People's Republic of China
 e-mail: linlong1978@sohu.com